AR (FERk265E1H)

X5 0445 8
k] (TR0
i B Eh #= (ke) =& (M) FHHE{m(F/ke)
001ESA 1,084 5,029,095 4,639
04 = 1k 77 112,245 1,458
138 = 387 2,626,092 6,786
2152 368 1,295,500 3,520
22F 450 189 876,655 4638
24=F 63 118,603 1,883
002&H1= 1,996 2,956,187 1,481
13/E 1,321 1,769,156 1,339
218%[E 66 180,180 2,730
22F 450 484 754,217 1,558
24=F 125 252,634 2,021
0038 IE5H 45 100,800 2,240
2152 45 100,800 2,240
004HMLE 236 286,443 1,214
04'= I 36 20,790 578
51 KPR 200 265,653 1,328
006 kChH 150 169,695 1,131
51 KB 150 169,695 1,131
0072 H 345 288,540 836
54F0FR 1L 345 288,540 836
008.5Y 1,930 1,680,047 870
04 = 1k 320 171,675 536
24=F 137 125,150 914
51 KB 808 645,333 799
52EE 353 332,316 941
62Z 1% 312 405,573 1,300
010IFFES (KR) 60 36,938 616
51 KPR 60 36,938 616
012FHL 1,060 680,930 642
51 KB 863 530,216 614
52E[&E 197 150,714 765
013 DHHL 1,850 1,035,905 560
24=F 650 345,665 532
51 KBk 860 488,775 568
52k & 340 201,465 593
014FEL vHL 342 273,000 798
26X &R 13 9,450 727
52EE 329 263,550 801
015h1=<{6ELvbL 650 273,000 420
10FE 650 273,000 420



24=F 0 0 #DIV/0!
016I1CL A 169 38,640 229
51 KR 169 38,640 229
017&I(F 18,776 11,580,064 617
02F 7 1,800 767,183 426
04 = Ik 470 252,840 538
10F 485 193,780 400
24=F 3,996 2,778,961 695
26 AR 870 277,515 319
51K 7,030 4,286,364 610
52E[E 1,965 1,869,259 951
6218 600 170,100 284
6516 & 260 177,452 683
66K I 1,300 806,610 620
018=hi 5,130 5,206,950 1,015
13 R 3,586 3,441,291 960
24=F 740 766,185 1,035
26 AR 574 678,174 1,181
5914 230 321,300 1,397
019&ZL 3,472 2,061,192 594
13ER 1,248 716,184 574
24=F 2,016 1,236,144 613
26 X &R 160 75,600 473
51 KR 48 33,264 693
0207K Hhr Ly 3 945 315
20f2 3 3 945 315
0227 Dl 32,489 26,428,090 813
N B[#::3E] 940 1,028,265 1,094
04 = Ik 870 828,030 952
13ER 2,880 2,166,360 752
224=F 3,216 2,377,497 739
26 X AR 1,164 882,588 758
51 KRR 19,748 15,913,763 806
52E[E 3,662 3,225917 881
56 1R 9 5,670 630
027HFET LY 1,092 1,797,285 1,646
138 590 929,250 1,575
2548 168 197,190 1,174
51 KRR 184 275,519 1,497
59110 60 315,000 5,250
66 R I 90 80,326 893
028L &KV 366 402,675 1,100
51 KRR 366 402,675 1,100
030F D=L 2,161 2,794,008 1,293
045 35 450 568,050 1,262
51 KRR 1,460 1,724,504 1,181
52 E 239 494,664 2,070



62 1% 12 6,790 566
0328V &> 200 57,750 289
2651 &R 200 57,750 289
0338(E% 451 431,655 957
52E[E 451 431,655 957
034HM 56 7,464 5,783,008 775
13FRERE 180 151,200 840
224=F 260 259,350 998
51K 5,986 4,384,660 732
52E[E 1,038 987,798 952
0361+ 76,410 64,590,996 845
otitiEE 10,642 10,149,080 954
04 = Ik 60 74,340 1,239
10F% 600 544215 907
13ER 10,016 9,401,379 939
2240 9,575 6,892,202 720
24=FE 10,782 9,857,285 914
26 X &R 1,142 425565 373
51 KR 29,406 22,606,901 769
52E[&E 1,544 1,773,210 1,148
54F0Fx LU 2,643 2,866,819 1,085
037F9 11,668 13,464,892 1,154
ot1itiEE 273 514,710 1,885
04'= I 1,092 929,039 851
10F % 366 389,655 1,065
13T 6,280 6,792,550 1,082
24=F 516 770,758 1,494
51 KRR 3,141 4,068,180 1,295
0381=5 7,264 9,449,136 1,301
04 = Ik 118 92,715 786
10F% 80 149,100 1,864
224=F 3,108 4,999,579 1,609
51 KRR 3,664 3,895,157 1,063
52E[E 294 312,585 1,063
039 4)L)L—Y 1,515 1,246,277 823
24=F 160 119,700 748
51 KRR 904 690,900 764
52EE 451 435,677 966
041(%3H GE) 20 24623 1,231
265X ER 10 16,223 1,622
5918 10 8,400 840
0439 727 823,935 1,133
087 3k 324 368,550 1,138
26 AR 55 68,250 1,241
51 KRR 78 95,550 1,225
59110 270 291,585 1,080



0459 §'= 1,118 1,021,641 914
51 KBk 1,118 1,021,641 914
048H % 156 487,391 3,124
51 KB 156 487,391 3,124
051AE 20 13,440 672
51K 20 13,440 672
0521=656 841 762,985 907
262 #R 50 52,500 1,050
51 KB 490 405,300 827
525 & 301 305,185 1,014
056FiA0b 370 377,475 1,020
24=F 370 377,475 1,020
057LY 51 15,141 297
51 KRR 51 15,141 297
059hh(FFE 50 50,925 1,019
51 KR 50 50,925 1,019
0609 Y 210 277,830 1,323
o1dti@mE 210 277,830 1,323
06135 v 7,349 3,559,596 484
025 % 180 83,265 463
10F&E 1,318 675,045 512
13E 32 12,600 394
19811 2,986 1,386,105 464
51 KB 2,833 1,402,581 495
062%°L) Lyhs 659 1,207,532 1,832
215% [ 419 832,808 1,988
51 KRR 240 374,724 1,561
063HLA 5L VH 3,854 7,218,478 1,873
13E 641 414,684 647
26X AR 397 363,736 916
51 KB 1,296 2,780,819 2,146
61F /1| 1,520 3,659,239 2,407
065F Dl yH 4,695 2,206,071 470
025 % 2,610 637,560 244
138 140 294,000 2,100
51K 1,675 886,851 529
52k & 30 63,000 2.100
571U 50 23,625 473
601E S 190 301,035 1,584
06671=c 3,640 3,889,785 1,069
o1itiE& 70 80,850 1,155
24=F 3,560 3,796,020 1,066
607 & 10 12,915 1,292



070LVEZ U 10 32,550 3,255

51 K 10 32,550 3,255
0721 =A T 7,528 8,531,291 1,133
04 35 577 897,547 1,556
2240 4,694 4,460,678 950
23 & 1,291 1,420,145 1,100
24=F 150 200,286 1,335
51K 794 1,514,835 1,908
52E[E 22 37,800 1,718
073HHMZUY 6,461 6,775,530 1,049
04E I 518 433,194 836
24=F 216 231,840 1,073
26 AR 252 263,340 1,045
51K 4578 4,471,530 977
52EE 843 1,318,926 1,565
555 HY 54 56,700 1,050
074FDZ Y 37,202 62,795,216 1,688
13ER 4,606 9,560,127 2,076
2240 192 295,470 1,539
23 B 360 847,668 2,355
24=F 5,632 9,961,974 1,769
26 X &R 2,956 4,591,906 1,553
51 KR 20,469 31,455,344 1,537
52E[&E 2,987 6,082,727 2,036
075 H LAY 4,425 8,666,771 1,959
138 ER 2 0 0
197 )1 67 90,200 1,346
24=F 320 819,789 2,562
26 AR 253 542,743 2,145
51 KR 2,075 3,867,994 1,864
52&&E 1,647 3,091,945 1,877
555 HY 48 201,600 4,200
644a if] 13 52,500 4,038
0760 & 142 97,965 690
224=F 132 90,090 683
51 KRR 10 7,875 788
0785IZ 26 161,826 6,224
138 19 120,246 6,329
51 KR 7 41,580 5,940
081% O th £ 5 1,560 1,670,754 1,071
13 E 1,560 1,670,754 1,071
085F D 4th 18529 15,329,926 827
ot1dtiEE 1,069 557,130 521
04= 3% 1,933 1,634,462 846
087 3k 766 236,144 308
10F 1,550 650,993 420
13T 2,013 1,663,629 826

22Z 50 370 654,885 1,770



23R B
24=%F
26X #R
51 KB
525 [E
56 E1R
591LA
62 1%

230
888
464
4,032
3,649
1,380
150
35

278,021

254,016
706,628
870,870
3,911,287
2,594,836
1,481,121
70,875
43,050

284,142,820

1,104
796
1,877
970
711
1,073
473
1,230

1,022




